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Series F — Multiplication and Division

Pages 1-2 i 5 Answers will vary. Ly
' Sample answers: :

laig | 1|18] 2| 9| 3| 6
9 |12|15|18|21|24|27]30

2
4| 6|8 (10|12(14|16|18]|20
6
8

12 (16| 20|24 28|32 |36|40

X
)
: 3
: 4
b 25 1125| 5 : 4 |x| 2 |= x| 3 (=] 24 24 x| 3 |=| 72
¢ LML) LlL) o) L)(=] 3110|1520 |25|30|35|40] 45|50
cial 1ls] 2] 7 d [5 ][ ]-[2] [2o]<[#]-[s0] [so]<[#]-[s20] 3 12|18 | 243036 (42|48 |54 |60
7| 14| 21|28 (35|42 |49 56|63 |70
do [ 1]9]3 Pages 3-4 0116|2432 (40|48 |56 |64 72|80
)| 18| 27|36 45|54 | 63|72 |81] 90
el6 | 1]16| 2| 8| 4 la| 4 |x| 6 |=24 ‘1| 20| 30| 40|50 60|70 80|90 |100
f 11553 :
" b| 3 [x| 8 |=24 Page 6
g30| 1|30 2|15 3|10| 5| 6 1313=1x1x1=1‘
C 2 | x| 12 |=24
ha | 1|42 2|21|3|14]|6]|7 b43=4x4x4=64‘
d| 1 (x| 24 |=24 C23-‘2><2><2=8‘
2b 1or20o0or2orl0or4or5
c lor24or2orl2or3or8or4orb ds=| 5 |x| 5 |x| 5 |= 125‘
dlor300r2orl50r3orl0or5s P2 QOO OO
ors . 0000 QOO0 | eos| o x| o || o || o]
c1ors . 0000
©2at
QOO | “'e
3 48-10factors : L b true
1,2,3,4,6,8,12, 16, 24, 48 ? _
: 3a-e Teacher check. ¢ false
: f 2,3,5,7,11,13,17,19, 23, 29, 31, Y d true
N N
4da 4 b 5 : 37,41,43,47,53,59,61, 67,71, :
73,79, 83, 89, 97 e false
L f e
: da 5
- |
: 3,5 :
: ’ : Pages 7-8
23
: 2
. Page5 6\ 12
i 1a 16 9
; ) 18
— | b36 _
) 0 :
c 9 d 7 ¢ 25 : 4 4
49
e 49
L s )
O )
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Series F — Multiplication and Division

Pages 7-8

12
18 6
9
C D
96 8
192\ /5, 16
64

2a 32;128
b 6;12;24; 48
¢ 10; 20; 80; 160
d 100; 200; 400; 800
e 14;56; 112
f 150; 600; 1,200; 2,400

3 Answers will vary.
4 4x12=48

5b 32; 64
c 48;96
d 50; 100
e 64;128
f 42;84
g 70; 140

6a 48

b 28; 56

¢ 50; 100; 200
d 42;168

e 26;52;104
f 64;128

8 Method 1=£120 24x5=120

Method 2 = £248 8+16+32+64+128
=248

Pages 9-10
12 I
17
1|7 ]o0
1 0| o0
1 7 0| o0
(WY TTh Th H T o0
4 | 3
3]0
3] 0] o0
4 | 3 0| o0
@M TTh Th H T O
8 | 5
8 | 5] 0
5/ 0] o0
8 | 5 o] o
(P TTh Th H T O
9 |9
9|1 9] o0
9| 9]0 o0
9l 9] o]0 o0
2a 140
b 1,400
¢ 14,000
d 920
e 92,000
f 9,200
g 100
h 10
i1l

3 Answers will vary.

4a 10; 100; 1,000
b 18;180; 1,800
c £24; £240; £2,400
d 2.4; 24; 240
e £21; £210; £2,100
f 0.16;1.6; 16
g 27;270; 2,700

5a 75 km
b £80
c 20,8

x 10
x 100
x 1,000

x 10
x 100
x 1,000

x 10
x 100
x 1,000

x 10
x 100
x 1,000

6a 40; 50

b 60; 100; 120

c 90; 120; 180

d 120; 160

e 200; 250; 300
f 300; 500; 600
g 600; 800; 1,000

Pages 11-12
la 46 x 4
(40 x 4)+(6 x 4)

160 + 24

= 184

b 74 x 5
(L0 x S)+ (4 x_5)

350 + __ 20

= 370

c 48 x 4
(40 x _4)+ (8 x_4)

160 + 32

= 192

d 37 x7
(30 x _7)+ (2L x_7)

210 + 49

= 259

e 62 x 8
(60 x 8)+(2 x_8)

480 + 16

= 496

f 91 x5
(0 x 5)+ (L x_3)

450 4 5

= 455

B

|
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Series F — Multiplication and Division

Pages 11-12 1f §;8 4b 8 x9 =72
2a 320+64-384 . £99 '
: 9x8=|72
b 350+ 14 - 364 as
c 360+27 =387 : b g 72+ 8 |=9
d 160+72 =232 ¢ 7
560 + 42 = 602 72]+9=8
e 560+42=5602 do
6 c x 9 =63
“® :
¢ 63
9 x 7=
b g9
@ hs 63| 7 |=9
(o}
i 13
63 |+9=17
i 4

i 5a7x6 =42
24 1 42+6 =7

6 . _
.6 42+7 =
(30x9)+(3x9) (10x6) +(3x6) (10x9) +(6x9) 48
\:\ \;\ \;\ 183 ° - bO9xs =4
3 45+9 =5
: 45+5 =
9 1 c 6x9 =54
. 54:6 =9
2 54+9 =

4
Pages 13-14 136+8 =17
1b 8x30-8 =232 136 +17=8
c 20x6—-12=108 e 8x12 =96
d 7x40-7=273 9 4 9%6+8 =12
9% +12 =8
e 30x5-10=140 7 36| 16 10
28 40 f 21x11 231
= C +4 X =
20 80xd =32 a4 24 231+21=11
11 6 : -
20x9+18=19 32| 8
€ axeris=ase 231+11=21
d 30x9+18 =288 8 2
e 7x60+14 =434 6 Answers will vary.
- T T : : Sample answers:
3 Check individual answers. 4a 7 x 8 =56 20-5=4 20+4=5
O 0O 000 [eli(e]l[e]l(e]i(e]
. : 8x7=| 56 :
Pages 15-16 ; * ; 00000 o|lol|ollo||o
1a 8 00000 ollo||o||o]|o
b 1111 - e 7 )-8 ojlo)lo)lojlo
d7;7 :
e 4,4
-
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Series F — Multiplication and Division

Page 17 { 4a 108+18=54+9=6 Polc 78 + 6
: : ™
o [N 00 bos:l-49:7-7
4 > 0 0 0 112 +16=56+8=7 : = -
) Y 0 [+10 € LT RTRTERS +6 +6
4 5 (0] + 100 d & = 1_ - Q = Q - Z
s | 5 |+ 1000 | 204 s 13 |
i e72+18=36+9=4
(Y TTh Th H T 0O  f144:36-72:18-4 - d g4 - 4
413010l o : e
3 0 0o [+ 10 24 40
4 3 0 |+ 100
4 | 3 |+ 1,000 +4 4
5
o v0 [ ]
8 5 0 0 0
e 91 + 7
5 0 0 |+ 10 5
8 5 0 |+ 100 6 288+48 :
8 | 5 |+1000 i 14424 S
: 72 +12 +7 +7
El TTh Th H T o] 36+ 6 =6 E
8 ol o0 | o0 3 +_10 =] 13
8 0 0 |+10 Pages 20-21
8 8 0 [+100 Pof 144 + 8
8 | 8 [+1000 ; 1a A/llz\ig PN
80 64
2 (( what number is ne thousand times smaer than 32 0007 80 32
( ‘What number is one hundred times smaller than 32 0007 = =8
( ‘What number ne hundred times smaller than 95 000? - 8 - 8
( ‘What number is ten times smaller than 95 0007 10 + 8 - 18
((_ what number i one hundred times smalir than 83007 10 + 4 = 14
( ‘What number is ten times smaller than 88007
: 60 - 6
i b 85 + 5 Za90+6/ =| 15
Pages 18-19 ~ N 6 -
1a 28;18; 42; 48 :
’ ’ ’ . 50 35
: v 5o . Pl 0 s 7 ~
b 12; 24;36; 72; 96 . : b 105 - 7 -
; +5 +5 : 35 + 7
¢ 25;250; 500; 125; 50
: 10 + 7 =| 17 i S48 sk
A c72+4 =| 18
b 7208 L]
c 48+6=8
H : P 48 + 8
d 110+2=55 : o d1ss=s =| 18
¥ T LT DD : : N % -+ 8 -
e81+9=9

3 Observe students.

3a 90 + 18 60 + 6 =
Pages 22-23

b 4+16 248 B 1 VYes, because 12 is divisible by 4.;

c 120 + 12 35+ 7 = Yes, because 5 is in the ones place.;

d70 =14 45 = 9 - Yes, because 160 + 8 = 20;

6+3+4+5=18
e 144 + 24 72 = 12 _
f48+16/ \32+8/ \=

Yes, because the digits add to 18
and that is divisible by 9. 18 + 9 = 2;

Yes, because there is a zero in the
ones place.

@ Copyright © 3P Learning Series F Answers 4




Series F — Multiplication and Division

Pages 22-23
2 <8 +5
36 +9 50 +3
=) ) G [
o) (G |G (o
C=) (] [ &
Gaorr)| |Cemn) = |G )
) w (o)
456
(e ) e
—
o) o
Pages 24-25
1a [e: 990 ]
H'T:oO
327
981
[
b[e: 1,000 J
H'T: O
2 D7
X : S 4
98 8
[FI|

H'T: 'O

1.5 4

x 5

770
2] 12

900 J

H'T:'oO

s

x : ; 3

9 45
[

H:T: o0
2.8 6
x : © 2
B
[FE

H:'T:o0
9 4
x E © 5
970
[ 12
2 7
X 3
8 1
2
£81
3 3
X 4
1 3 2
1
£132
3 8 7 3 8 7
x 2 x 2
7 7 4 f 7 7 a4 f
5|
1 1 9 1 1 9
X 7 x 7
7 7 3 x 3
2 2 0 3 3 2 0 3
x 3 x 3
eV i X
4 3 6 4 3 6
x 3 x 3
1 2 0 8 X 13 0 8 f
|E3] N
4 0 1 1 4 0 1
x 7 X 7
CICEUEE 4 Ry A
Forgot to carry. Did not
multiply the

zero.

Pages 26-27

bs

2a 5

1:0
9 i 0
2 i1
8 i 4
11
6 i 6
33
9 i 9
301
6 i 2
31
9 i3
0: 3
1i5
23
6 9
0: 3

w Copyright © 3P Learning

Series F Answers

5



Series F — Multiplication and Division

Pages 26-27

201

e4 | 812

3a6 [ 7 :3:8

4a £234
b 313 mm

Pages 28-33

1a

d (=222~
K== 227~
e

3;4

OO
85666
Do -

25

3a

4,2

So,+=remainder

¢ s (2]« 2] [z [+ [
50,+E=remainder

52 [ - [3]
o83 e[ [1]
[T 5[ [7]

6 50

7a 3, 3;

8x3=24+3

b 4,2
9x4=36+2

c73
6x7=42+3

do,3
5x9=45+3

w Copyright © 3P Learning
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Series F — Multiplication and Division

Pages 28-33 R 1 L4 0.7 0

2;2;4;O;r3 :
: : T & T e o
6 |r| 3 ;10f4‘8;9;6;3; %

11a 15; Answers will vary.

b 11r4; 1.5 0

9a9 | 7 i 5 : —T
' ' S0 9 Best deal is 3 bars for £4.50

: : : : —£1.50 each.
111 ir3 3 1 r2 Cheaper than £1.75 each.

ba | 4 7 §12a4126 §3a£12

o _ . b £8
O§6§r2 §c2

EIN s s
ce6 | 3 8: : : d£10
' 3 1 L e £4.20

1: 2 :r3 L 133 4| 1 3 . f £3.50

: Answers will vary.
ds | 6 : 3 : 1 6 8 Y

. : 3 . Pages 36-37
12t | 1a 81;243; 729

: : : : §b8;4;2
ed |49 L 3:i0:0

c 64;256; 1,024

14a 4| 1 : 2+ 0 : 0

2a 1 5 25 | 125 625 (3,125

fe |6 2:
: : 1:3:520 Rule multiply by 5

S . b2|2:7%¢0:0 :
1;1;15r2 : : : b 2,187 729 243 | 81 27 9

10a 5‘ 5 5 7 Pages34—35 Rule divide by 3

. : - : 1a 1.9 1 8 1 : 4,096 |1,024| 256 64 6 | 4
. . . : : , 1, 1
2 20 :rl1 X 3 or 2 : ¢

; : 5.8 5 .
b 3| 6 He Hy : — T : Rule divide by 4

£5.43 for300 g

d 3 9 27 81 | 243 | 729

- = b 309 9 4.2 5 1 R multiply by 3

c 4| 418 1 1: : x 20*”7
; ; . : > .9 o 218+5 0
: T 1

1 1 0 irq. £3.95 for 500 g 5 15 45 135

3a —> x3

‘ 9‘ Pt . ¢ £2290+10=£2.29 l 0 | 30 | 90 | 270
o or :
1:1:5:7:7r3 . £275x10=£27.50
:U Ii] i&l 10 pack CD

x 2 20 60 180 540

40 120 360 | 1,080

| Copyright © 3P Learning Series F Answers 7



Series F — Multiplication and Division

Pages 36-37
—> x 10
3b 1 10 100 1,000
l 4 40 400 | 4,000
x 4 16 160 1,600 | 16,000
64 640 | 6,400 | 64,000
4a [2r2] [<2+2] [x2+7]

Theruleisx2 +2

b H<Goail>[<T i<l

Theruleisx3+1

5a No errors.

{OROXS)

2 (0
o A

Pages 38-39

la x6,x6,x6,x6,x6,x6; 120
b x4,x4,x4,x4,x4,x4;80

c x8,%x8,x8,%x8,%x8,x8;160

d+3,x4+3,x4+3,x4+3,x4+3,

x4 +3;83

2a 4;4,4,4,4,4;4
b 2222222

€ 8,3,8+3,16+3,24+3,32+3,
40 + 3; Multiply by 8 then add 3

3a 4+2,6;8+2,10; 12 + 2, 14;
16 + 2, 18; 20 + 2, 22; Multiply by 4

then add 2

b 4x20+2=82

Pages 4041

1la 16, 20, 80; 4
b 24,30,120; 6
c 28,35,140;7

2a 13,16,61;3,1

b 6,11, 16, 21, 26, 101; 5, 1
c 4,7,10,13,16,61;3,1

Pages 4243
la RULE: +10
b RULE: x5

2a OUT: 12; 66; 54
b OUT:3;6;9

3a IN: 77; 110; 55
b OUT: 54;27;72

4a RULE: x4 +2
b RULE: x5+1
¢ RULE: x6+2
d RULE: x9+5

MATHS

i x-BINGO +

OUT: 14; 16; 18; 20; 22
This one does.

OUT: 27; 32; 37, 42; 47

Page 44

la £8, £10, £12, £14, £16;
Number of shirts x £2;
£24

b 12,16, 20, 24, 28, 32;

Number of litres x 4 = Number

of cups;
48 cups

¢ £1.50, £2, £2.50, £3, £3.50, £4;

37 | 16 | 45 | 12 | 17
42 | 32 | 22 | 18 | 23
47 | 68 NIRE4 18 | 29
15 | 20 | 37 | 15 | 32
14 | 30 | 43 | 16 | 35

Number of scoops x 50p =

Cost of ice cream;
20 scoops

Pages 45-46
la 4
b 3

2a 6
b 18

2c 30

d 10

e9

f 11

3a8x7| > |12 + 13

b3x8| < [12 x4

4a 4 x 12| > |17 +| (0-30)
b7x7| < [100-| (0-50)
c9x9| > |120-|(40-120)

d8x6| < |9 x|6o0ormore

Pages 47-48
1la 4;4;4
b 12;12;12
c 15;15; 15

2a 3
b 6
c7

3a 9;4
b 5; 12

4a 9;7
b 6; 18

5a 4;96;92
b 30;5; 25
c 9;11;8

Pages 49-50

1a 1 will take away from each side. This leaves me with:
L]
g
3 x +2 =11

P\

b Copyright © 3P Learning

Series F Answers 8



Series F — Multiplication and Division

Pages 49-50

1b I will take away | 3 | from each side. This leaves me with:

N.

-
~laa

~

goo

C 1willtake away | 4 | from each side. This leaves me with:

-.

[N]
.
+
x
~loa
n " n
~ ~

2a 6;3
b 7,7
c 4;15
d 6;6
3 Answers will vary.
10or4dor2;

3or6or7;
2or8o0rl10

Pages 51-52

1a /\-70m= 38m

/\ = 38m+70m
/\ = 108 m

b £50+ /\ = £130

/\ = £130-£50
/\ = £80

c £83+£100 + /\ = £300

/\ = £300-£83-£100

/\ = £117

2a3x A +12 =284

3x A =84-| 12

A-|72:] 3
A -| 24

There were | 24 | cookies in each batch.

2b><A—11:213
xA=213+11
NEin

A - 28

There were students in each class.
c 3 x + A =73

A = 73-30
A = 43
Trin collected postcards over the last 5 days.

Pages 53-54

1a<7+7+6=13
Q7+7=13-6

X X
)] )]
n "
[9)]
[¥,]
|
~

R
=z
B

(g}
=]
I3+
"
W w
=] (][]

HEn
S B [+][+][5]

]
[+]

dv+8+11=19
Q7+8=19—11
Q7+8=8

=8 x 8

WV
@:64

i 2 Answers will vary.

EREINED
EEREIRED
EIREIRED
(2] (2] (2]
(2 ) () (]

You end up with the same number
you thought of.

i3 Answers will vary.

iNfJ

[
EBRE
E

[

[

N

NED

) ()
) ) )

You end up with the same number
you thought of.

)
+[GJ
(=)
()

[~ = |

Page 55
What to do

i Answers will vary.
: Sample answers:

You end up with the same number
¢ you thought of.

P\

-

Copyright © 3P Learning
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Series F — Multiplication and Division

Page 55 Page 57
What to do next What to do
Answers will vary. M A T H L E T I C S
Sample answers: - - - - - - — —
2 1 3 6 4 5 3 8 7 9
o« JL
I S F u N
! ! — - L =
( ] ( ] 8 9 10 12 11
i 8
* ' i 1 i 10
[ _*_+_*_+6 J[ 14 ] AxA=A Ais F=H+L Fis
v MxM=M+M Mis_2 E=F=+2 Eis _ 5
; )
[ * ][ T-M=A Tis _ 3 2xL=1 lis _8
v v
( * ]( 4 ] T+T=H His _6 2xL -A=C Cis _7
The operations in the last 2 steps H-M=1 Lis 4% F+A=N Nis 11
reverse the operations in the first 3 3IxL=U Uis 12 3xT=5 Sis 9
steps, which means you always end up - -
with the number you started with.
What to do
Page 56
A S T R O N A u T S A
What to do - - — - - = — — — -
. 2 9 4 12 13 8 2 7 4 9 2
Answers will vary.
Sample answers:
( N ( ) Ir A L L Et R L N S P A £
* ? 4 2 6 3 12 0o 8 1 2 3
. J . J
4 * N\ 4 * N\
* o+ 2+ 4 AxA=A+A Ais_2 L+E=S sis _ 9
\ J \ J
g v . v .\ A+A=T Tis _4 N-N=I lis _0
12
\ **I‘*s e Tx2=N Nis_ 8 U-A=C Cis _5
s Y ) AT + N = E Eis _ 3 S—-N=P Pis _ 1
¥ +%¥+6 10 :
\ I /N I J 2xE=1L Lis _6 i 2xU-P=0 Ois _13
4 1\ 4 1\
= i 7 = i 2
Yok Ko " E+T=U Uis : S+E=R Ris 1
. * J . * J
p N\ N Page 58 What to do next
%+ %+ %12 18 A ill .
L ) ) What to do nswers will vary.
_ * o * . Observe students. Page 59
* -+ 4 6 What to do next What to do
h * h * g Answers will vary. a 2 8
4 N\ 4 N\
5 4 What to do x 3
\ J J 3 girl bugs.
You would be left with 4. 4 boy bugs. 8 i
B,
Series F Answers 10
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Series F — Multiplication and Division

Page 59 What to do next What to do next
g 7 ' C s |
x 10| 8 | 7 | 6 56 7
x 4
—»| 2|20 161412 16 2
2 8 8 64 8
5 | 50|40 35| 30
80 10
—»| 6 |60 | 48| 42|36 P
3 |30 |24]|21]|18 72 9
2 3 s 8 1
x| 28|94
: :
3|6 |24|27]12 9 3
x 9 7 | 14|56 |63]28 6 2
18 6
7 2 9 6 | 12| 48|54 | 24
12 4
e 6 8 x|5|2]3]|3s 24 8
4 |20|8 | 12|32 30 10
7 35|14 21] 56
2 0 4 33 11
9 | 45|18 |27 | 72
f 2 3 :
21 3
x x 3 4 9 8 7 1
e 5 8 a4 2|6 |8 |18]|16 14 2
11 (33 |44 | 99 88 70 10
g 2 6 1 7 |21]28]|63]56 43 7
28 4
x 8 [24|32|72]|64
___ 42 6
1/lo]| 4 a4 35 5
_— Page 60
h 4 2 What to do What to do next
1 lolly snake = 30p
X 4 3
1 sherbet = 25p
1 2 6
1l 6 8 0
11810l 6
i 5 6
X 2 7
3 9 2
11121 o0
1511 2
-

b Copyright © 3P Learning
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Multiplication facts Name

o Using a lead pencil complete the grid facts. Once the grid has been checked, colour all your correct facts.
How many do you know? How many do you still need to learn?

Skills Not yet Kind of Got it
e 2X

o 4 x

| Copyright © 3P Learning Series F Topic 1 Assessment 12



Multiplication facts Name

e Using a lead pencil complete the grid facts. Once the grid has been checked, colour all your correct facts.
How many do you know? How many do you still need to learn?

11
12
0
1

Skills Not yet Kind of Got it

° 3 X

° 6 X

e 9x

° 11 X

e 12 x

e O x

e 1x

B,
| Copyright © 3P Learning Series F Topic 1 Assessment 13



Multiplication facts Name
e List the factors of these numbers:
a 18 b 24
c 15 9
e 8 16
g 42 30
e Fill in the gaps on these multiple boards:
) ) ) )
a 4 b 6 7 d 9
 EEEE—  EEEE—  EEEE—  EEEE—
8 12 14 18
— — — —
 EEEE—  EEEE—  EEEE—  EEEE—
— — — —
fr—— EEEE—
16
— — —
 EEEE—  EEEE—  EEEE—  EEEE—
35
— — —
 EEEE—  EEEE—  EEEE—  EEEE—
— — — —
fr—— EEEE—
63
— — — —
\ \ \ \
o List the prime factors of these numbers:
a6 b 12
c 21 d 22
Skills Not yet Kind of Got it

e ldentifies multiples

o |dentifies factors, including prime factors

w Copyright © 3P Learning
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Multiplication facts Name

9 What is a prime number?

@ Write out these square numbers in full and find their totals:

a 3= x = b 2= X =
c 5%= x = d 6= X =
e 12 = x = f 8= X =
g 4= x = h 92 = X =

@ Write out these square numbers in full and find their totals:

a 2= x x = b 4= x x =
c 5= x x = d 3= x x =
Skills Not yet Kind of Got it

e Understands prime and composite numbers and identifies primes up to 19

e Recognises and uses square and cube numbers

N
| Copyright © 3P Learning Series F Topic 1 Assessment 15



Mental multiplication strategies Name

o Show how you would solve 18 x 4 using:

r

a

~

s
b

the doubling strategy

the split strategy

the compensation strategy

e Use a strategy of your choice to solve the following problems. Show how you arrived at your answer.

( N
a 28 x4 b In 2000, a new world record was set when
18 people crammed into a mini. How many
people would fit into 9 minis?
\_ J L

e You can choose from the payment methods below for your new after school job as chief taster at an ice
cream shop. You work Monday to Friday, 4 pm to 6 pm. Which method would earn you the most money

in 4 weeks and why?

a

Daily payments of £9.

b Weekly payments of £42.

C

Fortnightly payments of £75.

W Copyright © 3P Learning
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Mental multiplication strategies Name

o Multiply these numbers:

a 10 x 43

c 100 x 43

e 1,000 x 43

b 10 x £92 =

d 100 x £92 =

f 1,000 x £92=

e Use patterns to help solve these:
a 5x2
b 2x9

c 6 x f4

5 x 20

2 x 90

6 x £40

5 x 200

2 x 900

6 x £400

G What number is:

a 100 times larger than 427

¢ 30 times larger than 8?

e 100 times larger than 8.77?

g 20 times larger than 0.3?

b 1,000 times larger than 135?

d 200 times larger than 7?

f 1,000 times larger than 3.567?

h 2,000 times larger than 0.44?

Skills

Not yet Kind of Got it

doubling [ ] split ||

e Recognises and uses a range of mental multiplication strategies
compensation | |

e Solves mental multiplication problems using strategy of choice

e Applies strategies to real life word problems

Multiplies by numbers ending in zeros

B,
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Mental division strategies Name

0 Solve these division problems:

a 40+5 = b 36 +6 = c 21 +3 =
d 54+6 = e 49 + 7 = f 48 + 8 =
g 500 =+ 10 = h 6,000 + 100 = i 55,000 + 1,000 =

Show how you would use the halving strategy to . Finish this split strategy problem to solve 98 + 7:
solve 96 + 24: :

e Use a strategy of your choice to solve these division problems. Show how you arrived at your answer.

a The 4 Herringer kids want to buy a Karaoke b 85 swimmers are divided into 5 equal
machine costing £192 for their mother’s teams. How many swimmers in each team?
birthday. Show how they could mentally
work out each kid’s share of the cost.

Skills Not yet Kind of Got it

e Uses knowledge of multiplication facts to solve division problems

e Solves division problems using strategy of choice

o Divides by tens, hundreds and thousands

e Recognises and uses a range of mental division strategies
halving D split D other |:|

Applies strategies to real life problems

B,
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Written methods Name

0 Solve these written multiplication problems using a strategy of your choice:

a 42 b 4.2 2 ¢ 5.0 1
X 6 X : ;4 X 5
T I T 1T 1T T 1T [
d 8 8 3 | e 236 3 £ 3.8 .8 3
X 7 x : C 4 x 7
T 1T O T T 1T T 1T T O

d6|6!_'5 e4|4u8!—'5 f5|6§—'4u5
A I P e e B S Y o [ % 15 15
e You buy 7 train tickets at £65 each. How much Five DVDs cost £27. What is the cost of 1 DVD?
have you spent? :
Skills Not yet Kind of Got it

e Solves 2-, 3- and 4-digit x 1-digit multiplication problems

e Solves written division problems with:
no trading or remainders D with remainders D
with trading and remainders |:|

e Chooses and uses correct process for solving real life problems

B,
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Patterns and algebra Name

o Complete the number patterns and write the rule in words.

a 4 8 32 b 1,024 16 4
Rule Rule

c 243 81 9 3 d 1 5 25
Rule Rule

a Find the function rule:

Position of number 1 2 3 4 5

Function rule

Number pattern 6 12 18 24 30

What is the number in position 20? How do you know?

Complete the table for each sequence of matchstick shapes. Use the function rule for finding the number
of matchsticks needed for the shape in the 20th position.

Shape 1 Shape 2 Shape 3
—— (e— Y — [E— e N — ]
Shape number 1 2 3 4 5 20
Number of matchsticks 4 7 10
Function rule Number of matchsticks = Shape number x +
Skills Not yet Kind of Got it

e Completes recursive number pattern and writes the rule

e Completes function number pattern and works out 20th term

e Completes function number pattern with more than one operation
in the context of matchstick shapes

B,
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Patterns and algebra Name

o Look carefully at these function machines. Complete the missing boxes.

A\ N
a @ b ‘

- RULE: out IN RULE: out

D @ &, -

9 2

. L L L o
2R 2R

IN RULE: out IN RULE: out

| | - + |4 |

72 12 7 84

30 L 5 1 L L 12
4R AR 4= L

e Complete this function table, write the rule and answer the question.

Jaz is baking cookies. For every batch, which makes 10 cookies, he needs 2 packets of chocolate chips.

Cookies 10 20 30 40 50 60

Packets of chocolate chips 2 4

Write the rule for finding out how many packets of chocolate chips are needed when you know how
many cookies you want.

Bonus question:

How many batches of cookies did Jaz bake if he went through 16 packets of chocolate chips?

Skills Not yet Kind of Got it

e Works with input and output relationships and rules

e Can write a rule to describe input and output relationships

w Copyright © 3P Learning Series F Topic 5 Assessment
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Patterns and algebra Name

0 Complete the equations on these balanced scales.

9 Find the value of the symbols.

0 0000 Q000
i 0000 i 0 0000
A A

16 = @ x 36 = @ x

Skills Not yet Kind of Got it

e Recognises that the equals sigh means equivalence between number sets

e Finds the value of an unknown represented by a symbol by recognising
that indentical symbols stand for the same number

e Finds the value of an unknown represented by a symbol by using the
balance strategy

B,
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Patterns and algebra Name

@ Read the story problems, choose the equation that matches and then solve it.
2x /\ +6=30 £25 + £100 + /\ = £300

a For my school fete, | baked 2 batches of cookies and then bought 6 more. How many were in one batch
if I had 30 cookies altogether?

b Max saved £25 towards a trip to the snow and her parents gave her £100. How much more money does
she need if the trip costs £3007?

@ Find out which numbers they are thinking of by matching and then solving the equation.

(/\ +3) x4=20 (/\x6)+7=55

Pablo says: “I'm thinking of a number. | multiply it by 6 and then add 7. My answer is 55.”

Chris says: “I'm thinking of a number. | add 3 and then multiply by 4. My answer is 20.”

Skills Not yet Kind of Got it

e Matched an equation with an unknown to a story problem

e Finds the value of an unknown using the balance strategy

B,
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Series F — Multiplication and Division — Student Progress Record

Name Class Date

What went well:

What | need to improve:

Series F — Multiplication and Division — Student Progress Record

Name Class Date

What went well:

What | need to improve:
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Series F — Multiplication and Division

ASSESSMENT ANSWERS
Pages 12-15

Sai18 | 1|18/ 2| 9| 3|6

b2 | 1]|24|2]12

c15| 1|15 5] 3

do 11913

es | 1| 8| 2|4

f | 1162|8124

g4 | 1|42 2|21]| 3|14] 6] 7
hso | 1|42 2 |21]|3|14|6] 7

6a 4 b 6
A N
c 7 d 9
N
———J \

7a 2,3

b 23

c 3,7

d2 11

w Copyright © 3P Learning
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Series F — Multiplication and Division

Pages 12-15

8 A whole number with only two

factors —itself and 1.
9 A composite number

10 2,3,5,7,11,13,17,19

11a 32 = 3 x 3 |= 9
b 22 = 2 x 2 = 4
C 5= 5 x 5 |=| 25
d e = 6 x 6 =| 36
e 12 = 1 x 1 = 1
fe=| 8 |x| 8 |=| 64
g&#=| 4 |x| 4 |=| 16
h o= 9 x 9 =| 81

12a 22=| 2 |x| 2 |x| 2 8
b #=| 4 [x| 4 |x| 4 64
C 5= 5 X 5 |x 5 125
d 3= 3 |x| 3 |x| 3 27

Pages 16-17

la 18 x4
18x2=36
36x2=72
b 18x4
(10x4) + (8 x 4)
40+ 32
=72
c 18x4
=20x4-8
=72

2a 28x4=112

Working out will vary.

2b 18 x9 =162

3a

4a

--

>

Working out will vary.

9x5=45,45%x4=£180

42 x4 =£168

75x2=£150

You would earn the most with
daily payments of £9 because you
multiply it by days and weeks.
430

£920

4,300

£9,200

43,000

£92,000

10; 100; 1,000
18; 180; 1,800
£24; £240; £2,400

4,200
135,000
240
1,400
870
3,560

6

880

Page 18

1a

> om h

8
6
7
9
7
6

50
60
55

96 +24=48+12
=4

3a £192+4
192+2=96
96+2 =48

Working out will vary.

b 8 +5=17
Working out will vary.

Page 19
1a L4 2
X : : 6
T @
b 422
X : : c 4
1:6:8:8
T T O
¢ 5.0 1
X : : © 5
2:5:0:5
T T
d 883
X : : 7
6 18 1
e 236
x : : - 4
9:4:5:2
T 2
LI 3.8:8:3
X : : 7
27181
O
2 11

P\

—
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Series F — Multiplication and Division

Page 19
; ; 1b 1,024 | 256 | 64 | 16 4 | 1 9a16 =@ x| 4
1:0: 1
divide =
st‘ 5 Ho Hs Rule by four Q-] 4
: : c243 81 | 27| 9 3 1
3:0:9 b36=@x| 6
c3 ‘ 9 !_|2 !_|7 Rule divide by thwee
@- s
1 0 v5 di1 5 25 | 125 | 625 (3,125
i_l : 10 Student answers may have more steps.
d6‘6:5 Rule nmudtiply by five azx/\+6 =30
. . 2 x A = 24
1:2:1:r1 2 Function rule:
T ] X 6; X 6; X 6;X6;%X6; A =12
e 4 ‘ 4 !J8 !_|5 S
: : 120. Because 20 x 6 =120
b £25 + £100 + /\ = £300
1 2 9 3 Number of matchsticks: £125 + /\ = £300
: : 13; 16; 61;
fs‘ 6 4 5 31 /\ = £300 - £125
' /\ = £175
S 4a OUT: 88; 72; 48
1:0: 3 6
: : b IN: 35; 14; 56 11la (/A x 6) + 7 = 55
2
g6 6 LlZ I_ll 6 A x 6 = 48
5a x6
o b x12 A-e
2:5:0:7''rl
I 6 Packets of chocolate chips: b (A +3) x4 =20
3 ‘ 7 :5 2 02 .Q-10-19-
h : 6; 8; 10; 12; A+3=s
_ _ _ _ Packets of chocolate chips
: : : : = Number of cookies + 5; A -2
1:1:5:7:rl1
R S 8
1 4 5
i 8 ‘ 9:2:5:7:
' ' ' 7a 2
b 40
3 £ 6 5
x 8aYY =| 5
£ 4 5 5
3
O -| 1
£ 5 ¢« 4 0
2 _
512 70 o A=| 10
Pages 20-23 by =| 12
1 4 8 | 16 | 32 | 64
t 0-| -
Rule nmultiply by two-
A =| 10
B,

-
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Series F — Multiplication and Division

Topic Reference Strand Substrand Objective
Identify multiples and factors, including finding all
Facts 5C5a Number Calculation factor pairs of a number, and common factors of
two numbers.
Facts 5Csh Number Calculation Kn'ow and use the vocabul'ary of prm1e numbers,
prime factors and composite (non-prime) numbers.
Establish wheth b to 100 is pri d
Facts 5C5c¢ Number Calculation Stablls . Wwhethera humber Up to s prime an
recall prime numbers up to 19.
Recognise and use square numbers and cube
Facts 5C5d Number Calculation numbers, and the notation for squared (?) and
cubed (3).
Mental 5C6a Number Calculation Multiply and divide numbers mentally drawing
methods upon known facts.
Mental . Multiply and divide whole numbers and those
5Céb Number Calculation
methods ! cu involving decimals by 10, 100 and 1,000.
Written Multiply numbers up to 4 digits by a 1- or 2-digit
methods 5C7a Number Calculation number using a formal written method, including
long multiplication for 2-digit numbers.
Divide numbers up to 4 digits by a 1-digit number
Writt ing the f | writt th f short divisi
ritten 5C7b Number Calculation usmg e forma wr.l en method 9 short division
methods and interpret remainders appropriately for
the context.

Solve problems involving addition, subtraction,
atterns and 5c8b Number Calculation mu|l‘|p|.lcal'IOIjl and division a.nd a comblna?tlon of
algebra these, including understanding the meaning of the

equals sign.

Solve problems involving multiplication and
Puzzles and . L . . .
) L. 5C8a Number Calculation division including using their knowledge of factors
investigations .

and multiples, squares and cubes.

Solve problems involving multiplication and
Puzzles and . . . . . .
) L. 5C8c Number Calculation division, including scaling by simple fractions and
investigations . o

problems involving simple rates.

B,
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